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gg‘g 7 = 156 63 93 359 163 196
- 1 e -76 -17 -59 -186 -63 -123
CHEY 279 141 138 568 294 274
8z | Bt ETAL 287 135 152 554 267 287
Al 201 3 2 1 6 5 1
*} it 569 278 291 1,128 566 562
?5] CHE 210 102 108 424 198 226
gt | & | Bt mETR 268 131 137 524 249 275
Hl 2 o 3 2 1 5 2 3
B 481 235 246 953 449 504
e s 88 43 45 175 117 58
A 0O By B 12 26 -14 11 54 -65
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T R &t 5 ES &t BREH | 28R
#a 8 73,182 | 172,268 81,217 91, 051 12 -76 88
® 2 M o 20, 086 46, 728 21,324 25,404 -4 -21 17
+ Z Pt 545 1,332 629 703 0 -1 1
H#HF—TH 228 591 272 319 2 1 1
HHAF_TH 166 385 169 216 1 0 1
HHAF=TH 265 643 279 364 -1 -1 0
FHFETH 342 856 410 446 -1 1 -2
HHAFAETH 231 596 264 332 -1 0 -1
FHFATH 469 1,053 441 612 4 -1 5
— B =2 1,149 2,698 1,233 1,465 -2 -2 0
BEHMA—TH 245 596 282 314 -3 1 -4
BmEHMA=TH 151 396 178 218 1 0 1
£/F-TH 483 1,079 466 613 0 -1 1
E/F=-TH 165 379 176 203 1 0 1
£/ T=TH 250 547 248 299 0 0 0
£/ THTH 328 718 334 384 -2 -2 0
£/ THETH 40 91 47 44 0 0 0
£ / T 18 42 17 25 -1 -1 0
BA®—TH 224 425 186 239 -4 -1 -3
RABZTH 168 383 172 21 -1 0 -1
RAB/RZTH 121 318 155 163 0 0 0
RABRMNTH 247 575 261 314 0 -1 1
/NT—TH 158 322 154 168 11 1 10
/INETZ=TH 485 1,213 539 674 -2 -2 0
INET=TH 225 490 226 264 -1 0 -1
XET—TH 442 924 408 516 4 1 3
ABIZTH 561 1,241 562 679 1 0 1
AET=TH 381 832 378 454 1 0 1
AETEMTH 368 960 436 524 0 -2 2
AETRATH 293 688 335 353 -3 -1 -2
KHETATH 191 532 243 289 -3 0 -3
AETETH 80 213 95 118 -1 0 -1
MARE—TH 448 1,046 488 558 7 -1 8
MAE—TH 443 972 453 519 9 -1 10
MAE=TH 614 1,479 699 780 -7 -2 -5
MAREMTH 268 652 310 342 0 -2 2
MAERTH 605 1,421 670 157 2 2 0
MAREARTH 466 1,125 546 579 -7 0 -7
MR AE—TH 502 1,038 476 562 -2 2 -4
HEAEZTH 831 1,792 192 1,000 5 1 4
HREAE=ZTH 406 882 404 478 -1 0 -1
HEAEMTHE 404 916 413 503 -1 -1 -10
i AL HT 559 1,130 488 642 -2 -1 -1
# B H 365 909 411 498 -2 1 -3
{EB)—TH 414 1,031 484 547 4 -1 5
EBZ"TH 288 676 319 357 1 0 1
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R&#—TH 358 812 374 438 -3 -1 -2
EAZTH 187 1,698 710 928 4 0 4
KA=TH 154 405 165 240 -5 0 -5
RAMTH 137 248 115 133 -1 0 -1
KAARTH 362 949 458 491 -5 -2 -3
® / T 508 1,241 546 695 4 -2 6
BEF—TH 282 619 291 328 -2 0 -2
WEF_TH 240 575 257 318 4 -2 6
BEF=TH 186 400 189 211 6 0 6
WEFMETH 99 244 102 142 -4 0 -4
M AB—TH 213 470 215 255 2 0 2
A AB=TH 165 398 183 215 1 0 1
WHAB=TH 216 581 240 341 -5 -1 -4
FRAt G T B 138 405 176 229 -2 0 -2
WHABAETH 609 1,490 695 795 6 1 5
o 9,911 24,298 11,374 12,924 -18 -14 -4
EH—TH 419 1,269 584 685 3 0 3
BEH_—TH 492 1,178 567 611 0 -3 3
EB=TH 131 1,639 766 8173 4 -2 6
fEBmTH 319 131 361 370 -4 -1 -3
E8ATH 396 992 472 520 -5 0 -5
B o - = 2,370 5,752 2,725 3,027 -8 0 -8
EHE—TH 476 1,124 511 613 3 -2 5
BEHE=-TH 387 960 449 511 -1 -2 1
BARE=TH 263 654 306 348 0 0 0
BEHREMETH 428 1,059 487 572 -5 -2 -3
tEBHER—TH 8 27 11 16 1 0 1
tEHER=-TH 436 1,042 472 570 -1 0 -1
tEBHER=TH 479 1,214 550 664 7 1 6
tEHERNTH 484 1,157 517 640 0 1 -1
tEBHERETH 266 681 325 356 -3 0 -3
EE—TH 107 1,816 848 968 1 -1 2
EB_TH 448 1,081 530 551 -3 0 -3
tEHE—TH 445 1,043 492 551 -5 -2 -3
tEBHEZTH 357 879 401 478 -2 -1 -1
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R B 14,068 33, 597 16, 000 17,597 49 -21 70
EE—TH 354 826 400 426 -5 0 -5
ER-TH 825 2,063 980 1,083 li 0 7
EER=TH 564 1,370 636 734 4 0 4
RO TH 318 126 325 401 -2 0 -2
ERATH 377 766 363 403 -3 0 -3
1’ IR 232 489 250 239 -9 1 -10
Fn—TH LYy 1,051 520 531 0 1 -1
FHN_TH 487 1,142 508 634 0 -1 1
FN=TH 388 998 429 569 -1 0 -1
i 7 296 571 286 285 -1 -2 1
17] It 2, 340 5,474 2,724 2,750 93 -1 94
£ B E 172 1,854 860 994 -15 -1 -14
FL—TH 281 692 337 355 1 -1 2
FILZ-TH 445 1,137 540 597 -8 -1 -7
FIL=TH 308 792 392 400 -1 -1 -10
FLEMTH 568 1,449 705 144 1 -1 2
FLEETH 190 396 196 200 -2 0 -2
FILEATH 98 213 109 104 1 0 1
F I 40 89 35 54 1 0 1
HH—TH 183 419 200 219 -2 0 -2
HH_TH 376 940 457 483 1 0 1
HH=TH 812 1,962 965 997 -1 -1 0
HEOTH 347 829 407 422 3 0 3
HHATH 600 1,515 697 818 0 -3 3
HHATH 193 470 215 255 -4 0 -4
] H 0 0 0 0 0 0 0
= A2 1,390 3,298 1,530 1,768 -4 -6 2
HEW—TH 219 531 237 294 5 -1 6
HEWLW=TH 236 586 270 316 -1 -2 1
HwEIWL=TH 250 600 2717 323 -3 -2 -1
HEWLMETH 138 349 150 199 4 1 3
X i o= 19,074 42,792 20, 607 22,185 0 -18 18
w / RN 1,684 3, 764 1,783 1,981 -7 -4 -3
5-TH 769 1,368 706 662 -12 -1 -11
a8=TH 677 1,520 117 803 4 0 4
A0TH 692 1,595 180 815 -2 1 -3
SRTH 1,101 2,180 1,367 1,413 9 3 6
=) 865 2,016 945 1,071 -7 -4 -3
IMNRB{—TH 555 1,018 523 495 -4 1 -5
INEBRZTH 926 1,981 991 990 -4 -3 -1
hR OB 39 103 51 52 0 0 0
A—TH 294 516 246 210 -2 -1 -1
AMZTH 939 1,651 194 857 21 1 20
AM=TH 560 1,135 536 599 4 0 4
AfmTH 131 1,581 153 828 13 -1 14
AMETH 786 1, 744 837 907 4 -1 5
AMATH 521 1,094 529 565 -12 -2 -10
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X i 1, 331 3,225 1,558 1,667 14 0 14
= g 308 879 420 459 -4 1 -5
AHE—TH 1,621 3, 706 1,794 1,912 -6 -1 -5
b =1 1] 1,895 4 333 2,112 2,221 -8 -3 -5
SR—TH 189 475 224 251 2 -1 3
SR°-TH 332 889 402 487 -3 -1 -2
SR=TH 243 570 281 289 3 0 3
SERMETH X X X X 0 0 0
SRETH 0 0 0 0 0 0 0
SRE—TH 299 775 366 409 5 1 4
SREZTH 204 481 233 248 0 0 0
SRE=TH 233 553 246 307 1 0 1
SREMTH 426 1,030 474 556 -3 -1 -2
SERERTH 161 413 187 226 0 -1 1
SREATH 335 762 359 403 -2 -1 -1
SEEtTH 358 835 393 442 -4 0 -4
£ & i 10, 043 24,853 11,912 12, 941 -15 -2 -13
&£—TH 379 776 385 391 -9 -1 -8
[fAA—TH 643 1,376 682 694 10 5
BAAZTH 726 1,512 703 809 2 -1 3
iz . 1,797 4, 554 2,136 2,418 -6 -2 -4
E#E—TH 618 1,350 656 694 -6 0 -6
EF#_-TH 687 1,673 802 871 3 2 1
EH=TH 242 589 291 298 7 -1 8
FREUTH 219 654 309 345 -7 0 -7
THETH 20| 1121 538 583 i 7 !
& X 2,182 5,495 2,691 2,804 -1 1 -2
W | 1421 | 3.83| 186 2017 = ) 0
B A 689 | 1,920 903 | 1017 7 ) 1
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